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QUESTION NO: 1
In RIP, poison reverse processing means that:

A. A route is advertised as unreachable to the interface from which it was learned.
B. None of these.
C. Traffic whose source interface does not match the routing table is black holed.
D. A route is not advertised to the interface from which it was learned.

Answer: A

QUESTION NO: 2
In spanning tree algorithm, the switch with the is elected as the root
bridge.

A. lowest numerical bridge ID
B. most number of active ports
C. None of these
D. highest numerical bridge ID

Answer: A

QUESTION NO: 3
In a Summit 5i switch, a MAC address must be configured for each physical port before
routing can be configured.

A. TRUE
B. FALSE

Answer: B

QUESTION NO: 4
Which CLI command will remove the IP address that has been assigned to the default
VLAN?

A. unconfig default ipaddress
B. disable default ipaddress
C. config default unconfig ipaddress
D. config default delete ipaddress

Answer: A



QUESTION NO: 5
In ExtremeWare user account names and VLAN names share the same name space.
Therefore a user named efault?cannot be created.

A. TRUE
B. FALSE

Answer: A

QUESTION NO: 6
There are two types of the Ethernet protocol, Ethernet2 developed by DIX and 802.3
developed by the IEEE.

A. TRUE
B. FALSE

Answer: A

QUESTION NO: 7
When multiple VLANs need to be configured on one physical port, all these VLANs must
be configured with a tag.

A. TRUE
B. FALSE

Answer: B

QUESTION NO: 8
CORRECT TEXT
What CLI command is used to show the port membership of only VLAN default? Your
answer >

A. SHOWVLANDEFAULT

Answer: A

QUESTION NO: 9
CORRECT TEXT
You would use the CLI command to turn off ECMP. Your answer >



A. DISABLEIPROUTESHARING

Answer: A

QUESTION NO: 10
CORRECT TEXT
The CLI command is used to view Spanning Tree Protocol configuration
settings of domain S1 only. Your answer >

A. SHOWS1

Answer: A


